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(E A T 3.55*Log(x)-0.200 9.23*Log(x)-0.400
f il L3 4.24*Log(x)-0.240 2.37*Log(x)-0.030
HEE T 6.58*Log(x)-0.410 13.11*Log(x)-0.450
R R T 2.51*Log(x)-0.060 3.63*Log(x)+0.030
K bR T 7.93*Log(x)-0.620 3.62*Log(x)-0.070
KB TH 3.11*Log(x)-0.160 13.33*Log(x)-0.850
YK T 3.39*Log(x)-0.180 5.21*Log(x)-0.160
SEpe 4.46*Log(x)-0.250 16.57*Log(x)-0.770
HAKEETHE 3.97*Log(x)-0.240 4.05*Log(x)-0.110
BHEAETHE 4.18*Log(x)-0.280 7.26*L0g(x)-0.070
JHA A S E% T3 2.69*Log(x)-0.110 6.79*Log(x)-0.270
N{iT3= i 3 5.30*Log(x)-0.350 4.60*Log(x)-0.010
a7 Y — MiifE THE 3.35*Log(x)-0.200 7.51*Log(x)-0.310
To O T H 2.09*Log(x)-0.060 7.87*Log(x)-0.290
ZOMEATE (1) 6.23*Log(x)-0.460 8.39*Log(x)-0.350
ZOMEARTE (2) 4.05*Log(x)-0.220 5.08*Log(x)-0.140
FfEORRR T8 22.53*Log(x)-2.490 10.41*Log(x)-0.130
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(B2 R 2 Y=2.53*10g(x)-0.006 Y=4.10*10g(x)+0.240
i pl T Y=3.04*log(x)-0.040 Y=2.83*10g(x)+0.040
HitE T Y=6.59*10g(x)-0.410 Y=13.47*10g(x)-0.500
BRI R T Y=2.51*10g(x)-0.050 Y=4.19*10g(x)+0.020
Vi - N P a3 Y=7.92*10g(x)-0.620 Y=4.03*10g(x)-0.090
K& T Y=3.11*log(x)-0.160 Y=13.54*log(x)-0.880
Pk T Y=3.39*l0g(x)-0.180 Y=5.44*10g(x)-0.180
Ep Y=4.47*10g(x)-0.240 Y=16.93*10g(x)-0.840
B TH Y=3.97*10g(x)-0.240 Y=4.26*10g(x)-0.120
EHEATHE Y=4.17*10g(x)-0.280 Y=7.76*10g(x)-0.100
AV i Y=2.69*10g(x)-0.110 Y=7.09*l0g(x)-0.300
Wi T8 Y=5.30*10g(x)-0.350 Y=5.02*10g(x)-0.020
a7 Y — M THE Y=3.36*10g(x)-0.200 Y=7.88*10g(x)-0.340
7o TE Y=2.09*10g(x)-0.060 Y=8.14*log(x)-0.310
ZToMmEATE (1) Y=6.24*10g(x)-0.460 Y=8.66*log(x)-0.390
ZToMmEATE (2) Y=4.05*10g(x)-0.220 Y=5.39*log(x)-0.160
PRGORER T5 Y=22.52*log(x)-2.490 Y=11.08*l0og(x)-0.170
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